REDROCK

AGGRESSORALUMINUM
FENDER FLARES W/ DRL

(2007-2018 WRANGLER JK)

INSTALLATION INSTRUCTIONS

CONTENTS

(1) LH Front Fender Flare
(1) RH Front Fender Flare
(1) LH Rear Fender Flare
(1) RH Rear Fender Flare
(1) LH DRL Light

(1) RH DRL Light

FRONT:
(2) M8x1.25 x 25mm Allen Bolts
(14) M8x1.25 x 20mm Allen Bolts
(34) M8 Flat Washers

(18) M6 Flange Nuts

(4) M8x1.25 x 20mm Allen Bolts
(16) Plastic Pish Clips

TOOLS REQUIRED

Panel Removal Tool
10mm Socket/Wrench
Ratchet

Wire Strippers/Crimpers
5mm Allen Key/Socket

SKU # J189612
Edited: 08/31/2023



REDROCK

STEP1
(FRONT)

Remove (6) 10mm bolts and (2) push clips from the fender liner. Unplug the parking light connector.
Firmly pull fender flare away from vehicle.

STEP 2

Ensure all plastic fender flare clips are removed from the vehicle fender.



REDROCK

STEP 3

Align the fender flare to the vehicle. Secure the center of the flare to the fender bracket using (1)
M8 x 25mm Allen bolt, (2) M8 flat washers, and (1) M8 flange nut.

Secure the fender flare to the vehicle fender lip using (7) M8 x 20mm Allen bolts, (14) M8 flat
washers, and (7) M8 flange nuts. Tighten all hardware evenly.

STEP 4

Secure the DRL light to the fender flare using (2) M6 flange nuts. Adjust the lamp for best fit to the
outside of the fender, and tighten the hardware into place.



REDROCK

Grille Liht - Fender Light

LH Side: RH Side:

| White/Green - Red | White/Tan - Red
White/Gray - Green | White/Pink - Green
Black - Black Black - Black

STEP S

Route the fender light wiring towards the vehicle grille turn signal harness. Splice the fender light
into the vehicle turn signal/parking lamp circuits using the diagram. After splicing, secure the
harness into place away from any moving/hot components.

STEP6
(REAR)

Remove (6) plastic push clips from the rear fender. Once removed, firmly pull the fender away from
the vehicle body.



REDROCK

STEP7

Ensure all plastic fender flare clips are removed from the vehicle fender.

STEP 8

Align the fender flare to the vehicle. Loosely secure the center of the flare to the top of the wheel
arch using (2) M8 x 20mm Allen bolts, (4) M8 flat washers, and (2) M8 flange nuts.

Secure the fender flare to the wheel arch sides using (8) plastic push clips. Once fitted with the push
clips, tighten the M8 hardware evenly until fully secure.



REDROCK

STEP9

Step description here...



	J189612 - RedRock - Aluminum Aggressor Fender Flares with LED DRL (07-18 JK)-01
	J189612 - RedRock - Aluminum Aggressor Fender Flares with LED DRL (07-18 JK)-02
	J189612 - RedRock - Aluminum Aggressor Fender Flares with LED DRL (07-18 JK)-03
	J189612 - RedRock - Aluminum Aggressor Fender Flares with LED DRL (07-18 JK)-04
	J189612 - RedRock - Aluminum Aggressor Fender Flares with LED DRL (07-18 JK)-05
	J189612 - RedRock - Aluminum Aggressor Fender Flares with LED DRL (07-18 JK)-06

